()31 J00ANS

n.razavi@tabrizu.ac.ir ggs, wmol ww

1Yo




X, (vibration)

~

(lesis JGs

ol Galesl o Lewlen j9ige 4 g e (sla S5g O

(x(D, x@ 5O .

ol 3lgs sl )5 O

A i O
.. d

’x(m)}

Xtest 20> ;9990 O

W90 - Ilag3T parai3 — puibles (53550 — 5613) oL 3w



ool Gy O $533mllS :@23)03 HIBAS

I

X5 (vibration)

{x(l),x(z),x(3),--',x(m)} .OO‘Q @M ]

| ‘X ....... "x Sl (cole e Xppgr Ll 0 O
x . XIXx ;

” :aS 6‘4.39.? o p(x) Lo Ls?YLo&}‘ JM SS olbul .o O
5 6ole é Xpost o1 P(Xpese) < € 51O
LSQLC xtest oli*] ‘p(XteSt) Z € ;‘ O

W90 - Ilag3T parai3 — puibles (53550 — 5613) oL 3w



I0s slasy)5

g

(Sl NS aseis O
Colwog 5l ool Sleds sloss ™
W35l o 0 ol all glagy )5 oloss W

W90 - Ilag3T parai3 — puibles (53550 — 5613) oL 3w



I0s slasy)5

O T,
lools 1 10 o SaalS o o lai O
| cmitle o Slae & bgsye el Lo 555 O
asil ;o oo by cwyiwo olusy B

083315 5L Olyee
aSil Sl s ondslo b Cas W

g Coled o sadl> o 0,8 5 el

W90 - Ilag3T parai3 — puibles (53550 — 5613) oL 3w






(WG @3)o)
I
(=9 & O
x~N (i, a2) w3l 02 lls o 5eSlon b (s @355 s X 08 5,3 O

0.4

0.35

0.3+

0.25

0.2+

0.15

0.1

0.05

1090 — Ilag3T pasai3 — uibles (53550 — 5618) oL 3w



08

07}

06|

05

04F

03F

02}

01

08

07f

06|

05

04

03F

02}

01

08

07

06

05F

041

03

02F

01F

0.8

07

0.6

05

0.4

0.3

0z

0.1

W90 - Ilag3T parai3 — puibles (53550 — 5613) oL 3w




Pol)l Oradd
SN e

03l acgose O
{x(l), x@ x® ... x(m)}

1 m
N )
H mZx
=1

AN
o~ = T)_’lz(x — ‘u)
i=1

W90 - Ilag3T parai3 — puibles (53550 — 5613) oL 3w






@)03 (1083 1)

(x® x@ x@ .. xm} O ¢ Rr 90l Gasgerme O
xi~N (), 0f ) ey O
WS o0 Somm Jboi @ig Sl e Shs B
D) 052y (Kwor o T g (e O

p(x) — p(xl; U1, Ulz)p(XZ; U, UZZ)P(xsi Uz, O-??) p(Xn; Un, 0-1%)

n
= Hp(xji#j» o)
j=1

W90 - Ilag3T parai3 — puibles (53550 — 5613) oL 3w



— = _
(HLoyd | posAns E33)93)
R
il apte Jlegil (aseis (o aiilg o a5 ola Sy e U

(1<J <7 6l ) byl rasss O

X a0z sodls sl P(X) saml=e U

p(x) < €aS b,ba«ady >q,5adg U

W90 - Ilag3T parai3 — puibles (53550 — 5613) oL 3w



-

-2

AN
A
S
Rt

Il
ol
N

|l

(N

U1

P(xli#1»012)

qW 1] 1 2‘ 3 4 7 8 é 10
X1
05
0.45

Il
w
S

Il
—

Uz

P(xzi.uz»azz)

¢ =0.02
p(xt(;;t = 0.0426

p(x2.) = 0.0021

W90 - Ilag3T parai3 — puibles (53550 — 5613) oL 3w




/,///

==

—

==

\

—

\

—
==

x1 =0:0.1:10;

x2 = 0:0.1:6;

[X1 X2] = meshgrid(xl, x2);
Z1 = normpdf (X1, 5, 2);

Z2 = normpdf (X2, 3, 1);

Z =21 .* Z22;

surf (X1, X2, Z);
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x1 = 0:0.1:
x2 = 0:0.1:
[X1 X2] = meshgrid(xl, x2);
Z1l = normpdf (X1, 5, 2);

Z2 = normpdf (X2, 3, 1);

Z =21 .* Z22;

contour (X1, X2, Z2);
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x1l = 10;

x2 = 6;

[X1 X2] = meshgrid(xl, x2);
Z1l = normpdf (X1, 5, 2);

Z2 = normpdf (X2, 3, 1);

Z =21 .* Z22;

contourf (X1, X2, 2);
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>> x = gamrnd (1, 2, [10000 1])

>> hist(x, 50);

>> hist(x .~ 0.3, 50);

>> xnew = x .~ 3;
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